## **BID TABULATION & NOTICE OF INTENT TO AWARD**



Bid Name: Citywide Fencing ProRFx ID:RFQ11072200000207

Notifications Sent: # 767

Bids: # 1

Solicitation: **BID# COO/220888** 

Buyer: Nelson Delcasio

Buyer Email: Ndelcasio@ocalafl.org Buyer Phone: 352-629-8205

## 12/5/22 **Notice of Intent to Award** to Charles White Fence, Inc pending City Council approval.

Bidder Name	Office Location	Total Bid Amount
<b>Charles White Fence, Inc</b>	Ocala, FL	\$196,451.80

ITEM	DESCRIPTION	UOM	EST QTY	UNIT COST	EXTENDED COST		
	LABOR AND M	ATERIAL	INCLUDED				
Four (4') FT. Chain Link Fence - (Schedule 40, Galvanized, 9 Gauge, 2" Mesh)							
1	4' FENCE / 2" LINE POST / 1 5/8" TOP	LF	720	\$14.82	\$10,670.40		
Six (6	Six (6') FT. Chain Link Fence - (Schedule 40, Galvanized, 9 Gauge, 2" Mesh)						
2	6' FENCE / 2" LINE POST / 1 5/8" TOP	LF	817	\$15.50	\$12,663.50		
3	6' FENCE / 2" LINE POST / 7 GA. TOP &	LF	890	\$18.95	\$16,865.50		
4	6' FENCE / 2" LINE POST / 1 5/8" TOP	LF	1	\$23.25	\$23.25		
Eight	Eight (8') FT. Chain Link Fence - (Schedule 40, Galvanized, 9 Gauge, 2" Mesh)						
5	8' FENCE / 2" LINE POST / 1 5/8" TOP	LF	1	\$27.00	\$27.00		
6	8' FENCE / 2" LINE POST/ 1 5/8" TOP	LF	1	\$27.95	\$27.95		
7	8' FENCE / 2" LINE POST / 7 GA.TOP &	LF	100	\$23.00	\$2,300.00		
Ten (10') FT. Chain Link Fence - (Schedule 40, Galvanized, 9 Gauge, 2" Mesh)							
8	10' FENCE / 2" LINE POST, 1 5/8" TOP	LF	36	\$32.00	\$1,152.00		
9	10' FENCE / 2" TOP, MID. & BOTTOM	LF	1	\$47.00	\$47.00		
10	10' FENCE / 2" TOP, MID. & BOTTOM	LF	1	\$47.00	\$47.00		
Ten (	12') FT. Chain Link Fence - (Schedule 40,	Galvanize	ed, 9 Gauge,	2" Mesh)			
11	12' FENCE / 2" LINE POST, 1 5/8" TOP	LF	58	\$55.00	\$3,190.00		
12	12' FENCE / 2" TOP, MID. & BOTTOM	LF	1	\$48.00	\$48.00		
13	12' FENCE / 2" TOP, MID. & BOTTOM	LF	1	\$48.00	\$48.00		
End and Corner Posts - (Schedule 40)							
14	6' POST X 2 ½"	EA	8	\$38.00	\$304.00		
15	6' POST X 3"	EA	1	\$47.00	\$47.00		
16	8' POST X 2 ½"	EA	14	\$38.00	\$532.00		
17	8' POST X 3"	EA	5	\$62.00	\$310.00		

18	10' POST X 2 ½"	EA	1	\$48.00	\$48.00
19	10' POST X 3"	EA	1	\$75.00	\$75.00
20	12' POST X 3"	EA	2	\$89.00	\$178.00
21	12' POST X 2 ½"	EA	4	\$57.00	\$228.00
22	14' POST X 2 ½"	EA	2	\$64.00	\$128.00
23	1 5/8" SCHEDULE 40 BRACE & 3/8"	EA	1	\$45.00	\$45.00
GATE	POSTS - With All Caps, Bands - (Schedu	ule 40)			
24	7' POST X 2 ½"	EA	1	\$36.00	\$36.00
25	7' POST X 3"	EA	1	\$55.00	\$55.00
26	9' POST X 2 ½"	EA	1	\$46.00	\$46.00
27	9' POST X 3"	EA	1	\$68.00	\$68.00
28	9' POST X 4"	EA	1	\$108.00	\$108.00
29	11' POST X 2 ½"	EA	1	\$52.00	\$52.00
30	11' POST X 3"	EA	1	\$83.00	\$83.00
31	11' POST X 4"	EA	1	\$130.00	\$130.00
32	13' POST 3"	EA	1	\$95.00	\$95.00
33	13' POST 4"	EA	1	\$160.00	\$160.00
34	1 5/8" SCHEDULE 40 BRACE & 3/8"	EA	1	\$44.00	\$44.00
GATE	- Four (4') FT. Fence - (1-5/8", Schedule	40, Galva	nized, 9 Gau	ge, 2" Mesh)	
		le Swing:			
35	4' S/S GATE, FAB. BRACED & TRUSSED	EA	1	\$175.00	\$175.00
36	5' S/S GATE, FAB. BRACED & TRUSSED	EA	1	\$185.00	\$185.00
37	6' S/S GATE, FAB. BRACED & TRUSSED	EA	1	\$220.00	\$220.00
38	8' S/S GATE, FAB BRACED & TRUSSED	EA	1	\$250.00	\$250.00
39	10' S/S GATE, FAB BRACED & TRUSSED	EA	1	\$350.00	\$350.00
40	12' S/S GATE, FAB BRACED & TRUSSED	EA <b>ble Drive</b> :	1	\$425.00	\$425.00
41	8' DD GATE, FAB, BRACED & TRUSSED	EA	1	\$325.00	\$325.00
42	10' DD GATE, FAB, BRACED & TRUSSED	EA	1	\$323.00	\$323.00
43	12' DD GATE, FAB, BRACED & TRUSSED	EA	1	\$495.00	\$495.00
44	14' DD GATE, FAB, BRACED & TRUSSED	EA	1	\$550.00	\$550.00
45	16' DD GATE, FAB, BRACED & TRUSSED	EA	1	\$640.00	\$640.00
	- Six (6') FT. High Fence - (1-5/8", Sched		-	-	
		le Swing:			
46	4' SS GATE, BRACED & TRUSSED	EA	1	\$240.00	\$240.00
47	5' SS GATE, BRACED & TRUSSED	EA	1	\$290.00	\$290.00
	6' SS GATE, BRACED & TRUSSED	EA	1	\$325.00	\$325.00
	8' SS GATE, BRACED & TRUSSED	EA	1	\$340.00	\$340.00
50	10' SS GATE, BRACED & TRUSSED	EA	1	\$475.00	\$475.00
51	12' SS GATE, BRACED & TRUSSED	EA	1	\$490.00	\$490.00
	Dou	ble Drive			
52	8' DD GATE, BRACED & TRUSSED	EA	1	\$505.00	\$505.00
53	10' DD GATE, BRACED & TRUSSED	EA	1	\$600.00	\$600.00
54	12' DD GATE, BRACED & TRUSSED	EA	2	\$740.00	\$1,480.00
55	14' DD GATE, BRACED & TRUSSED	EA	1	\$825.00	\$825.00
56	16' DD GATE, BRACED & TRUSSED	EA	1	\$875.00	\$875.00
57	18' DD GATE, BRACED & TRUSSED	EA	1	\$950.00	\$950.00

58 20' DD GATE,	BRACED & TRUSSED	EA	1	\$1,075.00	\$1,075.00	
59 22' DD GATE,	BRACED & TRUSSED	EA	1	\$1,150.00	\$1,150.00	
60 24' DD GATE,	BRACED & TRUSSED	EA	1	\$1,300.00	\$1,300.00	
GATE - Six (8') FT. I	<b>High Fence -</b> (1-5/8", Sched	dule 40, G	alvanized, 9	Gauge, 2" Me	esh)	
Single Swing:						
61 4' SS GATE, BF	RACED & TRUSSED	EA	1	\$310.00	\$310.00	
,	RACED & TRUSSED	EA	1	\$320.00	\$320.00	
	RACED & TRUSSED	EA	2	\$330.00	\$660.00	
	RACED & TRUSSED	EA	1	\$350.00	\$350.00	
· · · · · · · · · · · · · · · · · · ·	BRACED & TRUSSED	EA	1	\$400.00	\$400.00	
66 12' SS GATE, E	BRACED & TRUSSED	EA	1	\$600.00	\$600.00	
Plack Visual Chaire Li	LABOR AND MA	AIERIAL	INCLUDED			
Black Vinyl Chain Li	RIC, 9-GAUGE CORE STEEL	LF	1	\$8.00	\$8.00	
	RIC, 9-GAUGE CORE STEEL	LF	1	10	\$10.00	
	RIC, 9-GAUGE CORE STEEL	LF	1	\$13.00	\$10.00	
	TED FENCE SYSTEM WITH	LF	200	\$19.50	\$3,900.00	
	TED FENCE SYSTEM	LF	1	\$17.95	\$17.95	
	TED FENCE SYSTEM WITH	LF	2280	\$24.75	\$56,430.00	
73 6' VINYL COA	TED FENCE SYSTEM	LF	1	\$22.75	\$22.75	
74 8' VINYL COA	TED FENCE SYSTEM WITH	LF	200	\$27.50	\$5,500.00	
75 8' VINYL COA	TED FENCE SYSTEM	LF	1	\$27.00	\$27.00	
76 10' VINYL COA	ATED FENCE SYSTEM	LF	1	\$34.00	\$34.00	
77 10' VINYL COA	ATED FENCE SYSTEM	LF	1	\$34.00	\$34.00	
78 12' VINYL COA	ATED FENCE SYSTEM	LF	1	\$49.00	\$49.00	
	ATED FENCE SYSTEM	LF	1	\$49.00	\$49.00	
	TED END PULL CORNER	EA	1	\$95.00	\$95.00	
	TED END PULL CORNER	EA	10	\$126.45	\$1,264.50	
	TED END PULL CORNER	EA	12	\$170.00	\$2,040.00	
	ATED END PULL CORNER	EA	1	\$208.00	\$208.00	
	ATED END PULL CORNER TONGUE AND GROOVE	EA LF	1	\$255.00 \$255.00	\$255.00 \$255.00	
	VINYL COATED GATE	EA	2	\$249.00	\$498.00	
	VINYL COATED GATE	EA	4	\$292.00	\$1,168.00	
	VINYL COATED GATE	EA	1	\$402.00	\$402.00	
	VINYL COATED GATE	EA	1	\$374.00	\$374.00	
90 6' X 6' SINGLE	VINYL COATED GATE	EA	1	\$459.00	\$459.00	
91 6' X 8' SINGLE	VINYL COATED GATE	EA	1	\$544.00	\$544.00	
92 8' X 4' SINGLE	VINYL COATED GATE	EA	1	\$452.00	\$452.00	
93 8' X 6' SINGLE	VINYL COATED GATE	EA	1	\$550.00	\$550.00	
94 8' X 8' SINGLE	VINYL COATED GATE	EA	1	\$651.00	\$651.00	
	VINYL COATED DOUBLE	EA	5	\$920.00	\$4,600.00	
96 BAG 6' HIGH E		BOX	8	\$99.00	\$792.00	
97 BAG 8' HIGH E		ВОХ	7	\$115.00	\$805.00	
98 3" EXTENDERS		EA	4	\$30.00	\$120.00	
99 2" EXTENDERS	5	EA	4	\$30.00	\$120.00	
<sup>100</sup> 8' BARS		EA	6	\$9.00	\$54.00	

101	8' BLACK VINYL WIRE	LF	642	\$13.00	\$8,346.00	
LABOR AND MATERIAL INCLUDED						
Wood Fence						
102	6' WOOD STOCKADE (PRESSURE	LF	1328	\$21.00	\$27,888.00	
103	4" x 4" x 8' PRESSURED TREATED POST	EA	165	\$15.00	\$2,475.00	
104	4" x 4" x 10' PRESSURED TREATED POST	EA	2	\$20.00	\$40.00	
105	4' WIDE X 6' HIGH SINGLE DRIVE	EA	1	\$305.00	\$305.00	
106	16' WIDE X 6' HIGH DOUBLE DRIVE	EA	3	\$495.00	\$1,485.00	
Miscellaneous Charges						
107	LABOR CHARGE FOR MISCELLANEOUS	MAN	43	\$65.00	\$2,795.00	
108	REMOVAL AND DISPOSAL OF OLD	LF	1546	\$2.50	\$3,865.00	
	\$196,451.80					